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21C. 00000. DObOoOoOo0obOoooobobooobOobOoboboobOobDooboOoDbo
oooobooooobHd,0boboooboboboboooboooooboboboooooo
gbboougoboogboboobbodbbougoob3gbboobbuoobbuoonn
gboboboogoobbood

21D. 00000b0.bo0bobobooboboboboobobobobobobonog
0 (000000000 20000) 0000000000000 000OODO00O0ODOO0O0OO
gobbuooogbbobooogobooo

0000000000000000000000000000000000 (37100)00
O00000000200000000000000000000000 Neishtadt[35],[36] 0 O
gooobog

2.2. 000000000000000000000000000000. 1.60000000
00000000000000000000000(1.6)0000000000000000
000000000000 (1.7)000000000000000000200000000
000000000000000000000000000200000000000000
00000000000000000000000000000

00000000000000000000000000000000000000000
0000 (1.1)0(1L.7)0000000000000000000000000000000
000000000000000000000000000000000000000000
00000000000000000(MO000012000000[R27000)00000
000000000000000000000000

000000000000000000000000000000 OSiegel4] 000 [5]0
Moser[21]0[22]0[23]0[12]0[13]00 O O [18]0Arnold[10]0Glimm[16]0Contopoulos[24] DHénon[25]0
Bryuno[26)0 0000 00000000000000000000000000000000
000000000000

22A.2s—0000000.00

A: (L= (I'¢)), 00O I'=I1-52, ¢ =9+ 27,
0000000 S000000000000S8(I,¢)=S,I'")+eS(I',¢),e< 100000
0000000 /eGCEODOOD e 000000 E 000000 s000000
00000000000000

O0. L,O0GOOOO PO0O0OOOOOO (0D00OOODO 1.9BOO)000OO0 GOO
S, 0 POO0O0OOOOOOOOOONe>00b>0000000000000000
IO,0000GxT*000000000000000000000000000000
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0000000 me[0,7)0000000O00O00O0OOO0

1 1
T = = exp(—
gexp(ga)

DooOI™ Mmoo AmI©,  OYooooo

2.2B.00000000000.000s000000000000000000000000
00000000000000000000000 iw,...,+iw, 000000000 w; O
order 1000000000000 00O0O00O0O0O0OOONO0OOODOOOOOI0O000
000000<Yi, |k <i0000000000000k=k,....k 0000000

Z kjwj 7é 0.
j=1

|00000000000 (0000 27rj00) 0000000000000 ooooooODO
gbooodbgpbudbbogbbubobbuoobbogobogobbooobooooo
gboobog

(2.1) H = Hy(I)+ H™V(p, q).

000 H,OI=1,...,[,000000000000000(/200000 (/200000
00 =(p2+¢})/200000000000 H@Y0p000¢000000000001(+1
0oO0ooO0ooooon

(21)00000000000000000000

O00. Hy=Hy(I)O I=0000000000000000000 H,OODODODOOO 0O
Ooobooboddbe>00000>000000000000D0000

2

(22) l Z g—f-]_ (b:b(ozl,...,ozs_l)).

O000pt),q) 000000000000 p(0),¢0)00000000000000¢ =
11(0)|-D20000000 L(t) = (p2(t)+¢3(t)/2000000000000¢€(0,7]00
OO0t —1(0)<0000000T=1expX 0000

gogooooboobobbbbbbbboobooooooouooodudouooooogo
gbodggboggbbogobboogbooobboobobooboobbooboboobo
H,0O00OO0OO0OO0O0OO0!/00000000000000000000010 ;0 (22)00000

22C. 0 000000OO0bO0bOoboOoO0OOoO0. DoooooDOotooOobDOoD 2r 0
00 stationary 00000000000 MOOOO00000ODODOOOOOOO0OODOOODOO
000000, 0000000000000 0 270000000000000 substitution
gooo )\f,...,/\siDDDDD 10b0bbooggoboobooooon

(2.3) ANk =
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000(000000000000000000k=kF,...,k,00000<Y |k <1000
00000000000000000000000000000000000¢0000 27
D00D0D0D00D0D0D (21)000000000000 H®YD+000002r000000
D000 H" ) (p,g,t+2r)= HH(p,q,t) DD ODO0O0O0D00DOO0
0000000000000 0000000000000H, 00000000000 P
0000000000000000022BO0O0O0O0O

22D.000000D0O0O0O0ODL.00 A00DOOODOO )\{E,...,AfDDDDDDDDDDD
0001000000000000000l000000000000 (23)00000000
0000000000000 000000O00000000O0 p,q0ODO0000 A(p=gq=0
O00000000000000 /(000000000 0)0000OoOoOOO0oO0o0ooO0oO0OO

(1,0) = (Lo + 20,

ol
oo I:Ih...,IS,C)OZQOh...,QOSDDDDI]'D QOJD pj:\/QIjSiIlQOj,q]'—\/QIJ‘COS()O]'D|:|
000080 I,...,I,000[1/2)0000000000
gubdabodooood

0o0. S, 000000000 POOOO0ODOOOODOOODODO S, 0 POOODOOODOO
000000e>00000>0000000000000000!>2+10000000
D000p=¢=000000000000 p(0),Y0000010 —10<<00000
me0,T10000000000007 =Lep 0000 10 ™)+ (¢™)?)/200
Dooooad pim, ¢t =Amp0 (0000 e= 10020000

s0bogogoboobouoooooooo

00000000 (00 44)0000000000000000000000O0O00O0O00O0O
gbobbuooogobobbuooobbobbooogoooo

(3.1) H = Hy(I)+ecH(1,9),
gbooboooooboobooodan

3.1. 000000000000000.00000000000000000000000
000000 Kolmogorov 000 Amold 000000000000000 ([6-]9)00)00
00000000 [R00000000000000000000000000000000
000000000000000000000000000000000000000000
000000000000000000

00000000000000 GlimmO [16)0000000000000 (1.8000)0
000000000000

0000000000320000000

3.2.000.000000000077000000 31)OOOOO IHWoooOoOooooo
O00D00OD0H, 000 GieG)UODODODODODODODOODODOOOOOOODODOOODOOOOO
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gboboggboggboogboogboogbuobboooooobobuoobbuooon
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ooobobogoo/oboboooooboobobooooboobo EoooDooon
gobbbooggobbuooooboboooobbobbooogobobbuooooonobon
000000OO0o0O0oOobOOobOOobOvbOobOOobOOU0ObOUObOOobODUOoDODObDODbDObDO
obooboobuooboououvgbugobooboobuooboobuoobooobooooboo
goobooogooo

32A. 000000000000 O0O0. 0o GUbUobobooooboog
220000000 sO0D0O00O E=k,...,k,00000D00Ov>0000000000

00.0000keZz 00007100000 [(kw())<v0OO0DO0DO0DO0UOOOO v
000000000000000 w(I)=gradH; 0000 (k,w)000000

< k’,w >= ZZ = 1Sk:iwi,

0000000
D000 keZ O oder D00k =Y, |k/0000000X00000NDO0DDC
0000 (order) 0 UOOOOO0O000 000000000 ull000007 =dimA 00
00r<s0000
0000UO00s—r0000000000000000000000000000000
0000 MANDOOOOOOOOOOOO0

0000000000000, NOOODOODOOOODOOO:000000000»00
0000000000000000000

32B.000000. H=Y, (0000000000000 00000DOOO0OO
oboooboobobobobobobboobobobob HoOboobooboobooboobo
oobooobobooobooooobosk0b0oboobobO0bbOoboobDobbOobOoobLO
gobobooggobobooobobogo3gggoooo
gbobgggbbuogbbogbbuoobooboooboooobooooooobobooobo
O0O00UxT°000000 I,e— JypyOOOODOOODOO

(3.2) H = H(J,Y)+ R(J, %),
0000000000000000 A00000000000000000%0 )\NO0000

H: Z Ek(J)eikw,

kEXNoNZS

0000 ROODDO |gradR|0 NOOOOOODOOOODOOOO
(3.3) lgradR| < ee N,

000«>00000000000000000000000000 |(J,¢)—(,¢)|0e¢,v0
00 NODODODODODODOODOODOO0O0O0000
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D00000H=Yh(/)e* 0000000000000 000000000000000
000000000000000000R(J)e*0000000000J04000000
000
000000000000000000AO00000000J@#00000 A,0000
00000000000000000000000000000 (32)000000 J(&),¥(t)
00000XD0000J¢)0000000 |gradR 00000000NDOOOOOOOODO
(3.3)0000|gradR| 0 e000000000000 000 0000000000000
000000e»000NOOOOOOOOOOO0O0O00000000

3.2C.00(0000000). 00000000 (3.2)00000000000000000
0000000000I(),¢(#)00 (3.1)00000000000UxT7*000000000
0000 I()00002000000000000000 J@) =J(I(t),et)0000000
000000000000000000000000000000000000000000
000000000000000000000J@ 0000 I¢)00000000000X
000 J¢)0000000000000000

J@)ODOO0 (1) 0000000000000000000000 A000000000
0000 ANIOOOOOOOOOO0O0O00O000000000000000 0000000
00000 ADO000000O0D0O00000

32D.00. 00000000000 (~N)DDODOOOOUOOODODODOD 45,900 I1,e00
gbobgobobudgbobugbobuoguobuogboboobooboobbooboooban
0(12000)00000000000000000OOO000OCOODOO0OOOODOOOOOO
gboobodggo

gobobooggobobobooooobboooggoo

3.3.0000.0000000000000000000000000000000000
000000 GOO000000000000000000000000000000 s0O
000000000000000000000000000000000A 00000000
00000000 I(t),e)000 I$)00000000000000 NODOOOOOOOO
0ooooo
000000s0000000000I()0e000000(0000000000000)
000000000 ADDOOOOOOOOO0O0000000000, H,00000000,0
00000000000000000000000000000I()000 000000
000000.0()0000000000000000000 (2).
00000000000000000000

3.3A.000000. keZ0000000000000000007€G0 (k,w))=0
00000 4A000000000100000000KY,...,k02°00000 00000
O000DD00000IeGOOOO0O0OO0O0 j=1,...,r 0000 (K, w())=000000
K,... k000000000 roggogooood
k—1,...,kr000000000000-0010000 RK)(j=1,...,,)000000
D0D000D0D00 RO AWOOODOOOOOOOOO
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OO0ON>100000000D0200000000000000000D0O0O0DO0ODOO
gobuodgobugugbbuoobbuogbbooboboooobuooobboooboooobo
(0 H)OOOoOoooooooooooooo

{weRkeZ?’DO00000< k| <NOODO <k,w>=0}.
guoodoooboobobbbboboododad

3.3B. 00000 oooog. gboooobooooboobobooobobobboon
gobdobdboooooboobobooooboboboboooROObObOoOooOooLO
oooobooboobooboobovbobboobobv—=0000000O0RDOO
gooo
ooobobobooobobROOOooobOoboDOoooobOobOobooooob rROOO
O000RODODOOOOOOODOR R pRO00000O0O00O00C0O0O0OOO (OO

Fig. 1.

obhooboobobobobobobbbobbobRrROOObOObDOODODDOODO
gbobbooooobbbuoogobbbooooobbboooobon
GO00000000bO0bOobOOoooO0oDOD0oDOobDO0ODbO0ODbDOObDODODbOObDODOD
gboobooooobobooooan
OO000b00keZ000000000O00ODO0ODODODODODOOOOOOOODOODODO
Oo0o00oO00000O00O00000000 (ky,w(l))y=000000000KkOO0OOOO
gooobuogoboogbogdbey>00dgbbobbobbuogbvogbbogboa
OO0o000oooboooobooboll yOOOODOOOO 3300000000 00DODO
0000000000 XNO0000000000000ANOO0O0OCQO I)ODO0OO00000
ooooboNODOOObOoobooboobooboobo

33C.00o0oboooboo.0gbooboooobooboobDoobbOOoboobDoboOoDLo
gbbogdgboogbbogbuobbuoobbuoobbuoobbbobobboooboooo
gbogdboboodbboobbuoobbuoolgbboobbuoobbuoobbuoobobo
OO000obooooboobo Goooooo

I(()0D0D0D0D0O00000 AN00DOO00D000O00000000000000O000oo
O00000000H, 0000000 I(t)000 MANOD0O0DO0O0O0OODODODOOO0OOO0O00O0OO0O0O
0000000000000000000000 (Fig.2)d

Fig.2

gbogbbodgbbodbbuoobuobuoobbuogoobuogobuoobboobanon
gbbogdgbbogdgbboobbodbbodobboobboobbuoobobboboon
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00000000000000I(#)0000/(0)0000000000000000000
00000000000000000000000000000000000000 A000
0000000000000000000000000000000000 I()0 1(0)00
0000000000000000I()000000000A000000000000C0
00000000 (Fig3)d

3.3D.00000000000000000000000.000000000A00000
0000000000000 0000000000000000000000000000

0000 ADDOODODDODOODOD000O00OROOO0OO0O0OO0000AD ROOODOODO
000000000000000000k,.... A 0R00O0000000000000 AD
00000000000 l00000000000RO w()=gradH,|;00000000
000000000000000 gradHy; 0 A\ODODOOOOOO/eRO0DO000OO0O
00000000000 gradH,0 ADODDOODOOOOOIe€AD000 grad(Holy),; 0000
000IeRNADDDOODODOO grad(Hol,); =00000

0000000000000000000000 |grad(Hl,);]000000 00 ROO
0000000000D000000000000000000000000 (0000000
00000)0A0D0D000000000000000000000000000000000
00000000000

J3E.00. RONODODOODOODOOOLOODOODOODOODOObOOOObOoODg e
O00ORNAODODOOOOOOOOOOOOA000000000000000000 I(t)0
edgggbobooooobobobd lebbuooodoogobbbuooogoobobbouooon
000000000 XNOOOO0O0O000O07Ie~0000 grad(Hpl));=0000003.3D
OOo0obooboobooobobobooycRNADODODOD

33F. 00. D0000bOonoobobooo A I RNMAOODODOD HoOOOOODODOO
gboboboogoobbood

3.4. D0ODOOOoooobO. oDbbobuoooobbboooobobbobuoooobobobboo
goooog

000000 ANOOOO 33CO000b0ooooo0)oo0oooooooooooooo
gboboogdgboobbuoobobuoobobooobooobooobbogb1ibooboboon
O000000001/NOOOODOOOOOO00O0O0000O0000000000 vy =v(V)
00000(OO0D0O0O0O0O00O0O00000000000000OODO0O00O0D.) 0000
Doobobobobpobtbebobob MMOODODODOOOODODLDOOOOOODOO
OO0 MOOOOODOOOOoOOobOoooDooboboboboobooboboboooooobo
00000100000000 »wN)OODODODOOooooooo

ooooooboooboabooobooooooobooboboobooboooooo
oboobooooboooobobooaObbooboboobobbooobooooooboboo
0000 1/NODODODOOOOO L =6(N)DOODODODODOOOO0O0O0O00OoOoooooo
00000000000000000000000 1/NODODDODDODOOODOOODOoOooooo
goo

0000000 I)000 A0 K OOODODOO0O0O0O0O00000o0o0oooooooo
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0000000000000 (32B000)0000000000000000030000
000000000000000000000000000000000000000000
00000000000000000000000000 »,bO00000 00000000
0000000MO000000 |(I,e) - (J,¢)|06,/2000000000 I(1)0 A0 b/2
0000D000000000000000000000000 I(¢)00000000000
0000000000000000000007T00000000000
32B0000000000000000000000e»000NOOOOOOOOOO
00000 b=b(e,»,N)OOOOOOOOOADOOOOOOO0O0O0OO eexp(—N'=%)00
0000000 «>00000000000000030000000000000

v < vy(N),
b(57V7N) < %bl(N)a
T -cexp(—N'%) < b (N).

0000000000
00000000000 7000000000000000000007T0000000
0000000000000000000000000000000000NDOOOOOO
00000000000w(N),berv,n)0000(N)ODODODO0O000000000000
000000000000000000000000y0NO:000000NOOOOO
00000000000000000000000000y0NDOOOOOeO 1/e000
ooooo

00000000007 =1expN'"00000N=N()0 1/e0000000000

Doooroooboooog . .

T =—exp—.
€ e
HNERERE
0004000000059 000000000000000000000000000O0

gb1looogbbobboduooobbbodgo
U obbugoobbooooogooo

41. 00000, E*00000 4,...,,0000000000000 | =,/ 130
0000000A(J)007eE000-0000000000 (00)A000O0O0O0O000
00000 /e 0000

H,000 (domain)G c E*0000000000O0O0D0O0000(000000000O0
0 (domain) 0000000)07I eGOO0AeA()DD000000mA(p)00GOADDO
00»00I000000000 grad(H[,) 00000000000

mra(n) = lgrad(Ho)|al,

inf
{I'eAnG:|I'—I|=n}

000 HyAO AOO HoOOODODOOO
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41A.00. H,OODO A e A'()000 7€ GUO00O0O0000000000C > 00
§>00000>1000000000000m(y)0[0,6)0000000

sup mya(n) > C&*
0<n<g

O00000¢e(0,))00000000000COS000D0O0O0ODOO0O0DOODODOODO

41B.00.000200000000000 H,00 I0000000000000000
¢>0000 gradHy|; >¢00000000s01000000000000r=1,...,5—1
0000000 C, >006,>00000«,>1000000H,0C, 0006000000
00, 000000000 gradHy|;000000000AeA"(J)000000000

0g,Cy,...,C,.10006,...,6,,0I0000 H)O OO OOODOay,...,a,1000
000000

41C.00. H,000O ¢,Cy,...,Cy 1,61,...,6,., 00000 ay,...,a,, 0000 GOOO
0000000000H,00000000000000000007eG00000000
oono

000000000000 «,,000000000000000¢00s>2000000
000000000000000

(4.1) (=la(ag - (sg(as—g-s+s—2)+---+2)+1] -1
s=200¢=10000

4.2. 00. XO0OOOOODOOOOOOOO0OX+e¢0X0e0000000X -0 X0Oc¢
000000000000000000

(a;)0 s000000000000]|/(ey)||00000 (a;)00000000000000
C*000000000000000000000

I (o) 1= ey S0 [ ag L, where |1 = /S0, |1

4.3. 00 HOOO. HO

H = HO(I) + Hl(i’p7(p7Q)

D0000bobOuoooouooooDoon eop,...,es=U0 2700000000070 s0O0
O00000pO0 g0 (n—s)0000000000n>s>2000000000 43A000
43B0000O0O00O0O0ODOO

4.3A. HOOOOO F

F={l,p,¢,q:Rep,q € D,|Iml,p,p,q| < p},

000000000000 000000GOOO0 D DOOOOODEOOOE(900000
00000p>00000000000000000/|Iml,p,¢,q<p0

ImZ;| < p,|Ime;| <p (i=1,...,s),
Imp;| < p,|[Img;| <p (j=1,...,n—3s),
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0000000000000 0000000 k(0000000000000 oooo)ogd
gbgobgobobogbuodboobobboboouboobobboboobogoba
OooobobobO AO0bOoobOooobo

4.3B. 000000 FOOOOOOOOOOoDOOobDOOO

8% Hy(I)

4.2 _ " Hold)
(4.2) m Sgyall 5z I

OHy _
or*
43C.0000000 HOOOOOODOOO0OOOO0OOOOO0OOO00O0OO0

{ j:_an p:_an
Qb:H[, q:Hp

O0b0O0Om<ooOUOooonon

(fracd®HydL0L)0 HyO 20000000000

44. 000. H=HyI)+ H(I,pe,q000 FOOOOOOODOOOOOOOOOO H
0 FO43A00000000HO0GOOOOOOODOOO0Og,C.00046,000 a.(r=
l,...,s—1)0 0000000000 p000 H,O00000000000 My= My(Ho,p)O
goodooooooon
M = sup |grad Hq|, (4.3)
F

00000<M<M,OOODOI(t),p(t),et),qt)00000000 HOOOOOOOOOO
0 (0)000000C>0000000

I(0) e G—d and p(t),q(t) e D—d forall tel0,C],
guoooooooobon

[I(t) —1(0)] < d/2 forall te [0, min[C,T].

0ooo
(4.4) d=M", b= 4 0
: ’ (12C + 3s + 14)@571’
_ 1 1 a _ 2
(4.5) T=qrexp(ap)®s 0= e 35514y

000 ¢=C(a,...,a)0 (41)0000000

45. 00. 45A. 0000000M 000 supp|gradd,| 00000 supp |H, 00000
(43)00)0000000000

4.5B. M,00000000000¢,Ch,...,Cs1,61,..,8s-1,00,..., 05,000 m0O pO0O
ooooon
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00000000000 00000 (00 86092) 0000000000000 0O0O0O
goddbooggdoggoooooobobbbbbbobobobbobobobbobbbbon
000000000000 000O0O0O0000O0O00O0O0O00D (22BOO0O0)OODODOO
gbobbodggogbbbouooobbbouoodan

g oooodgn

5. 00000000.Z000000s0000000000000
51A.00.0000k=k,... . k,e€Z' 000 (order) D00k =%5, |k/0000000

51B.00.w:Y - C'000000YO00000000000000000000000
00keZz'0wl0O000YO»00000000000000yeYOOO0O0 [(kw())
00000000000k w) =Y, kw;0k0w0000000,000000
XO0O0OO0OOvVOOOOOOOO0J:V—-GO0000000000000 GO ED00O0
0000000000000000000w:G—RO0000000000R 0 sO000
0000000000000000000

5.1C. 00. 0 (X,J,w)000000000

5.1D.00.0000000000000(X,J,w)0000000 N,v,bOOOTOOODO
gbobobboooougood

U0 G-20000000000000M0 |k<NODDODOUDODOODOO (wWOOOOO)w
000000 (0000000 MNOOO0000000(#) 000000 XOOOOOOoOO
00000 =X(v)0OOOOODODDOO0O0OO0OO0O0O0O00ooooo

J((t)) €U and v(t)eV —2b forall te[0,C],
idde>000000000000
p(T(v(t)),\) <b forall te [0, min[C,T]],

0000000MAOEODOOOOOOO0O0O0000XAO000000000000 J(v(0))0
00000 p(J(v(#),\)0 J@)D0ADD0000000

5.2. 00000000000 DOOOOOOO HOOOOODOOOOOOO. H=Hy)+
Hi(I,p,0,q)00000 FOOOOOOODODOOOOOOOO HO FO 430000000
0o

F ={Rel € G,Rep,q € D,|ImI,p,p,q| < p}

O000000000o0oooooo GO DOOO (DOoO)oooo
vooooo

(5.1) V={leG,pqeD peT’}
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00000XO HOOOOOOOOOOOOO0000000J:V —>G6G0JU,pe,q) =1

DDDDDW:G—JFDwU%:%%DDDDDDDD

52A.00.00000000000000((X,J,w)00000000H=Hy+H OO
gboboboogoobbood
gbobbbooooobbboooobbbbodoooe3bbougan

52B.00.0000000AHO000000000000000 (X,Z,0)00000m0 M
0 (42)000 (43)0000000000N,»,b0007T00000000(10.1)-(10.4)00
000000ke(0,1)00000000000(0000000000000000000
000000 103000000000000000000000000000000000
000000D0) 00000000000

(5.2) AmbN < v,

(5.3) 2b < p,

(5.4) T<—JL$£%XM_NFﬂ
' ~ 1l6ms M P ’

N,v,b,T,k,M,m,p,n000 s00000000000000000000000000 (X,Z,w)
0000000 N,»,b0007T000000000000000000

5.3. 00 5.2BO00.UeG-2000AFO0000
A={Il,p,p,q:Rel € U+b,Rep,q€ D —b,[Iml,p,q| <b, [Imy| < p}

000000 (000000000)000000 (53)00 AFCFO000
A;000
Ay ={I:1€TU+b,|Iml| < b}

OoOOooouddsiDObDoonog b dimyy <sODOO0OOOOO

5.3A. 00. A, 00000000 (v/2)000000keZOk<NOOODOD AOD
0oo

0000000000000 |{kwd))|<v/2001cA, 0000000000004,
0000007 eU000000I0 /000000 4,0000000000 200000
000000000000000 /0000

[k, w (D] < [(k, ()] +mlk||] = I'] < 5+ 2mbN.

0000000 (5.2)00 |(k,w(I')) <v00000X3000000keXA00000000
00000000

00 (0000000000000000)0010.30 A,/ 0A00000000 AFO000O
00 HODODOOOOO0O00000 (5.3)000000

(5.5) {I,p,0,q: 1 €U,p,qe D —2b,pcT*}
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0000000000 Ip,e.q— J,Py,QOO000000000

b

(5.6) (L p.poa) = 1] < 17

00000000 J,P,Q00000000000 H=H+ROODODOD0ODO0O0OAHDOOO
O0kOANNZOOODODODOO0OO0OO00O0O00O:

(5.7) H= 3 h(JPQ)e",
keXoNZ®
gdd
1 1-k
(5.8) lgradR| < 8ms—M exp(—pN"").
P

gboboboogoobboog

5.3B.00 (0000000000000). H=Xh(J,P,Q)e* 00000000000
000J(),Pt),»(t),Q#00000000000000000000000000000
0000 h(J,P,Q)*™ 0000000000 J000000000000000

gbbobooogbbbod

Jj= =3 (hl( ], P,Q)e™ + ) =
= k;j(hi(J, P,q)e™) + - - (j=1,...,5).

gobbouoooobbboooon

5.3C. 00 5.2BO00O000. v(t)=1I(t),p(t), (), ) 00000000 HOOOOODO
0000000¢te[0,C]0000I(#) eUO00v(t)eV-200000000000C>0
000000VO (5.1)0000000000000000000000te(0,0]000000
0000000 G5 000000000 J,P,Q0000000000 J(),P(®1),v(t),Q(t)
0ooo

(5.7)0(5.8)00000 5.3BO000J(t)0 A00000D0000000000¢te€(0,C]0
D00 wOO00000000 w0 (5.8)00000000N0E 00000000000
00000 J(0)00000000000 J@)O0OXNOOODO p(J),N)0te (0,€]000
twODDOO000(G4)000¢€[0,mn[C,T]]0000 p(J(t),XN)<b/20000(5.6)000
NADDODOODOOO0O0O0O0O0O00O07T0000

pUI(),0) < p(T(8), T(1)) + plLI(0), X) + (N, X) < =+ £ 4 = < b

gbobobuoggobobooogobooo
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(5.2) 4mbN < v,

(10.4) b= A4, M

14

00000 A 000000000000 A0 A;0 (1090000000

(10.1) Ny < N,
gad
K
27(1 — Kr)(s + 1) 3(1 =" appa)(s +1) ,9 11— (1—r)(s+1)
Ny = 1 “oe2)/(0=R) . 4
= (O ) oy 2= P D) O gy /i-e). 4 )
MNQ(S—}—I)(I—K)
(10.2) Ag— <1,
v
4n+/n log 2 v
10.3 s 1
(103) (OB <,
(5.3) b<p/2,
(5.4) 7 <L L ap(pntH)
— 1l6ms M ’
(9.5) Ado+diL...+ds 1) <d,
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(8.1) d, < min[g/3m, 9,

(8.8) Vo1 < 1, /2,

(9.2) v < minfvy, vy, ..., Vs 1),

(8.2) & <9/2,

(8.4) by < do,

(8.3) by < min[d,/4,¢,/4m],

(9.4) 4b < d.

gad

(109) A =8 [zwn./(sn):ss](%)(ﬁ?v?p Ay = 96e(82)*,
Ay = %83/2(1%72)28“7”'

O00000o0o0o0ooooooo My>0M,0000000OO00O0DOOOOOO)ODDODOOO
00000000 Me (0,My)00000 (10.8)0000000000000O0O0OO0 MOO
gbobobooooobobboooooboboon

3

d= 20+ 3s + a7 ﬁ exp[(ﬁ)mL

O00000¢0 4.1)ooooooo

11 gggboobouooobobon
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gbobbooooobbbuoogobbbooooobobbooogbon

11.1. harmonic 0 0 0000000000000000. Sehy(I)e** 000 eH, 0000
000000I(),e(t)00 (11.1)000000000000000 ehy()e** 0000000
000000D00000000 stipulate 000 I()000000000000000000
0000000000000000¢eh()00000000 ¢kh()0000000000
0000000000 |400000000000000000000/, 000000000
000000000000000000000k] <Me*MO0oOOO0O0O00O M >00
p>00 k0000000000000000000 |40000000000000000
0oooo

11.2. harmonic 0 0000000000000, A000000000000000000
000 I()0000000000000000000000000000000 (k,w(I)) =0
0000000 ()00000000000000

000000000 thickness 000000000000 [4/00000000000000
000000000000000000000000000000000000 113000
000000000000000000000000000000 H,OOOOO000000
000H,00000000000000000000000000000

0000000000000 %00000000000000000000000000
0000000000000 »000000000v0|k0000000000)0000
0000000000000000000000000 (45000 (1.,5)00)00000
0e«000000000000000

11.3. 00000000000000000000000000000000000000
k| 00000.00000000000000 I(0)0e(0)00001(0)0 00000000
00000000000000004,0000000000000e<10000 dpyy > d,
000000000000000000000000000000000000000000
000000000
00000000000000000000000000000000000000000
00000000000000000000 (1110000 11.2000)0

11.4. DOooooooobobbodg. gogoobbboooobbbbooooboboboo
oooooboobooooboobobL NODObOoboboboobobobooooooo
oobobooboooooobobobooooboboo axooobobooooobobo
obogoobooobobbobbobboboo  NODbOOoboobooboobooboo
obooobooboboboboboboboobobob aobbobboboboobobooboo NOO
gbobogodbbodgbbodgbbodgbbuoobbogbboooobbooboooboo
oooboobooooobobooo abOobbobobooobobooNDODODbODOoOn
gboboboogooboboooobbbuooogoobboooooboboooooooo
O000000000000000000000000 (~eexp(—N))0OODODOODO
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NOOOOOOOOODOoOoOOooOoooooAooooooo IO 1/ NODODooood
opoogooboooNODbDbOOO0ObObOoobOoANDDUOODODDbOOoOobDbOoOobODbOOO
00000000 I 00000000000000000000O0Oo0OoOoOoOONOO0O0
ooboooboboooboooooobboobbooooNDbOoobboooboooobon
ooNOOOoOoooboboooobobobooboooboboboooobobobooobobo
ooooooboboboooobooooooobobOobOobOob0 Gooobobobo
0000000000000000GUOO0O0200000000000 I)000000O0O
O (transition) 0000000000000 O0OO0OOO0O0OO0OOOOOOOOOOOOOOO
gbobogdbbooboogbooobbodbboobbuoobbboobboobbilobo
00000000000000000 (O 4)0

U4

O0000D0O0OD0ODODODODODODODODODODODODMOO00000((21A0DD0D)0000000
0000000000000 00000000000O000000O00000OOO 11o14]0
000 (2900000000

11.5. [(1)0000000000.00000000000000000000000000
000000000000000000000ADIO0000000000I¢)00000 J()
0000000000000000000000 I(),¢(#)0 (11.1)000000J,4000
10300000000000 (3.2000)000000000000000000000 10.4
000J(t),»t)0 Hy(J)OOODOOO0000000 He(J)+eH(J,4) 000000000
00000000000000000 ®, 000000000000 /)000000000
0000000000 J#)O H, 000000000000
I(1)0000000000000000000 (45)0000000«000000000
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
0000 H,0000O0O0000000/(0)0000000 (00000s00000000
0s—1)00000000000000000000000000 103000000000
0000 (45 0000000000000000000000000000O0s00000
0ae01/s20000 1/s000000000000000000000000000000
0000000000000
00000000000000000000000000000000000000000
000 (21D000)00000000000000000000000000000000
000000000000000000000000000000000000000000
0000000000000000000000000

11.6. 0000000000000000000000000000000. 000000
000 (11.1)00 I(t),e() 000 I¢)000000000000000000000000
00000000? H,00O0OO0O0O0O00000r=1,...,s—1000000 000000
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000O0/eBOOOI,o0000000000BxT000000 (11.1)0000000
e00000000000000000000000-00000000000000000
000000000

O00000000BxT*00000000 J,»0000000000000000000
0000000000000000000 1030000 J,«/'00000)000000000
0000000000 J=KJ,¢v=(K7)WwO0O0O00O00O0O0O0O00oooo Kooooo
0 unimodular 0 000 00(K7)~'0 KOOOOOOOOOOODOOOOOO0O0O00000O
O00K,..., k0 BF0000000000000KO0O00000 /00000000000
ANODODOOK,...,k,r000000000000000000)0 Jy4q = const, . ..., J, = const
000000000000000000000000(00002807010000)0
BOOOOODOODOROOO J/OO

o OH(T)
R={J| < Zol)
U<k =57

obooboobooooJooboobooo

>=0,i=1,...,r},

OHo(K~1J)

(11.2) R={Il—57

=0,i=1,...,7},
0000000000000 (33b00oOo)o

0000000000 J,¢/((32)00)000000000 R(J,¢/)00000000
J — J 000000000 ¢y,...,4, 000000 HOOOOOOOO 10300
000 (00 10400)0HO0O

H=Hy(K'J)+eHi(Ji, .., Jo, 1, ..., 0),

obooooboobobb R, 00b0o0obooon
HO ¢par,...,1, 00000000000 Joyy,...,J,00000000HOODOODOODO
00o00o00ooo0ooooooo0 00000 o@o Jgy,...,Js00000 (11.1)000
000000000 DODOO0O000.) AD BOOODDOOODODDODOOOODODODOe 41,05
gogd
A={J|Ji=cli=r+1,...,s)}

00000000¢,...,e,601,-..,6,0 A0 ROODODOOO000000000AD BOD
ooooooao J,..., /. 000o0‘o0odoooooooge,...,.00000000000
000000000 U000 ooooobooROODOOOUODOOODOOOOO0OOOOOO
00 (whichispart of t 00000 0) 0000 e000000000O0OOOO

HOOO Joy,...,J,000 J;=00000000ANBOD0DODDOOO0DOOD0
ooooooOoOoOoOoOoOoOOOOOO(112) 000 Jpys,..., ;000000000000
Cl,...,CrDDDDHO(KflJ)D Ji,.... 0000000300000 0oboooouooon
00a0+Y] - ai(Ji—¢)(J;—¢) 00000000000 a0 a; 000000000 eH,
oo

eHi(cr, .o Cey 01, ..y 10),
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000000000 eU(yy,...,¢,) 0000000000 Jpyq,...,J,000000000H
goo

(113) ag + Z@ij(t]i_ci)(t]j_Cj)_'_gU(wl;---awr);
i,7=1

Oo0o00od0oooooouvoooooo2rz0ddiooH 00000000000 ay
000000000 (e;) 00000000000

0000000 (11.3) 0000000000000 o0o00oo 000000 ooonoo
O0o0o0oodbo ooy, 0000 bboooooo
Ji—ci=1...,r 00000000 0O0O0O0O0OODO0OODODORUDDOOODOOOO
googoooo

1200000000000000

12.1. 000. 0000000000000 00000000 s+1000000000000
0000 10000(00)000(00)00000000000000000000000
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
00000000000000

000000000000 00000100000000000m0000000000
000m; = uki(i=1,...,s)00000000k>00000000,0000000000
0000

0000000000000 00000000000000000000000000000
0000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
00000000000 a0000¢i=1,...,s)0000000000by;(i,j=1,...,s)0
oono
00000000000000000000000000000000000000000
00000000000 0000000000000000000000000000000
000000000000000000000000000000000000000000
00000000 000000
V,000000000000000000000000000000000a;,¢;000 b
0V, 000000000000000000000000000000000000000
00000000000 00000000000000000000000000000 p0
000000000000002000000000000000000000000000
0000000000000000

00000 12300000000V, 000000000000000000000000
0000000 000 1/,00000000000000000000000000000
000000000000000000000000000000000000000000
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gbboodbboodgbboobuoobbuoooobboobboobboobboobbon
gobbuoogoboboogobbbooognoo

12.2. 0O00OO00OODO. G;0o0000dbD;.00000000boo0bboooooGgb od
ODoooooooboooboboooobooooboooboboboo0obDGEer=x,G;,000 N:iG

00000000000000V,00 |Gy =mia(l—e)0000000V,000 NOO
00 a;,e,0; 000 x,0000000x0000000
a=ay,...,a,0008=4,....,4,00000000000~000000000000
00V,000000 B(e,3,7)0000:

(12.1) { a<a(v) < B, (i=1,...,s),

IN()| = 7.

O000eV,00000000000000000x000000000000000000
000000 B(a,8,7) 00000000 a;,¢;000b;0000000000
o000 80

(12.2) O<ar < <ag<fr<---<as <[

00000000000000000400000000000 B(a,3,7)000000000
~y000O0O0D0D00000000D0000000000000B(a,3,7)000000000
0100000000000 (e, 00000 (B(e,B,9m(e,3)00000000000
400000000000000.) 00000000000 B(e,B,7)0 (000000)
00000000000000 O0000000000000000000+000000
000000 4(e, $)00000000 0 < y9(c, B) < ym(a, ) 0000

12.2A. 00. 00 B(a,3,7)0 (121)0000 y(a, ) < 7 < ym(a,8) 000000000
0000000000

12.3. 00. BOOO000000000000000000kKk=+#,...,,000 BOOOO
000000 C,,C,,Cs000 ,00000000000000
£0(0,0)0000000000(#) 000 x0000000000000000v(0) € B
00000000

1 1
(123) T = Mexp W’
oooOoooo
. _ 2
(12.4) M=Cp, a=gg—3—n

0000000000000 0, 7T|000000000000ooooo0ttefo,7)0000

lai(v(t)) — a;(v(0))| < Copb(i=1,...,s), where b= 3a

(125) IN(u(t)) — N(0(0))] < Cop, :
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obooodbooboobodbt ,00bo0obo NODbOOoDboooboono
12000boobgi1230000ooon

12.4. 00O0OO0O0OO. DOOo0bobOoobobooboobbooboboobobooboobaon
gbogobdb 44b00bogbooboboobodboobuooboobooboono

124A.00. 0000000000 0DO0ODODOOOO

go.0oboobopObO0oobOOoboboOobboOooBO V,0obOoOobOOOOOOOObDOO
O00d0ooo00ooppOO00f00O0000O0UooOoU oo Ubooguoo
O000000gooooooog BO %DDDDDDD((12.1)DD)DDDDDDDDDD
gopoogoboooooogguoooguoobogogbo

O00000000000D00O0 E0DO0D0O0O0ODO0OO0O000DOO0O00D00OO0OO00x; =
2.7, 75s0 i 000000000002 = 201,200, 2s 0000 000000000000
gooooooooorooooooooooonb oo
|z — ;]

2
(12.6) =5 icoMis, U= —Yocicss

gbobbooogbbbuogoobbbiobbuooodbmed 10000O0DOO0

(12.7) To = i MiTi, Lo = — X274 Mudi,

00000000000000000000000 L=T-U0 2,8 =21,...,Te,- L1y, . Ts

O00000P, = Py, Py, Ps0 @ = 21,20, 2s 000 00000000000000000
_OL i S i (i =

(12.8) Py = &5 = myki +m; 25, My (1=1,...,s).

00000000 E=T+UQ0Pxz=P,...,P,a,...,z, 00000 E(P,2)0

(12 p-iy > R (P.),
- — x
zlml ’33'1
ogooogo
pO000000000000000000oUooO0opB 00000 UoOOooDUOooOoUoOOn
(12.6)—(12.9)DDDDDDDDDDDDDDDDDDD

12.4B. 00. R(y,z,#) = R,(P(u,%),2) DO00RO p,z000 200000000000
0000 x000000x=0000042,¢000000000 BFO0000O000O0000O
00O0o0oO0ooo0ooo

O00000000Y =\&p,lL,n¢0000000000M\Epl,n000¢00000
0sO00000.00000A=2A,...,A,0000000000000000000000
00000004=1,...,s0000 N, &, pilinings =Y:0 ay,...2; 000 5, 0000000
¢04i00000000000000000:
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0000000 9(144000 13500000)00000000LOO0O000OO0OOOOO
gobobboogogobooood

000000000000y, 000000000000000000000000((@O0
0000000)0000000000000000000000000000000000O
pedbbObOooooobbbdoooooobbbbooobbog me; DODOOOO0O0OO
00 (1210000000Y,=Y,,...,Y,,000000000:

(12.11) Y, = ®(ki,
00 (1.28) 00000000 zxz020000000000:
(1212) Ym‘ :@(ﬁi,$i,i'i+ﬁ62§:1 Iiji’j) (Z: 1,...,8).

n=0000000(1212)0000000000000000000000000 ((12.10)
00)0

000 x=00000000000000V,00 (00000000000000000
000000)00000000000000000000000000V,00000000
0o0oo

vOE00000000000000006>00000K(»,4) 00000000000
0000000000000000000000000000000000+0000000
000 G,00000v00000000004=,...,s0000x-6000000

(12.13) K(v,6) = {v|G;(v) #0,G;(v),v <7 — delta(i =1,...,s)}

e,e,es D EE000000000O00O00OO0OODOOOR O0O0O0OOOOOOOOOO
O00000B CcV,0000000000000000000(900)0p=0000000
O000006>00000 BNK(e3,0)0DOODDODOODDODOOOODODOODOOODOODOOOO
gooo

12.4C.00.06>00000000 240000000 B'NK(es,6)000 U, 0000
0000000000000000 ¢0000000x=00000,00000pk,2z000
#000((1212)00)00000000000Y =Y;,...,Y,0U,xU,;00000000
0000000Y,(x,é) =Y (400 pel,0000 U,, 00000000

00000000000000 00000 ((1212)00)000 BNK(es,6)00000
00000000000000 R 0000000 (00 124A) 0000000000000
00 ming 1G4 > 0(i=1,...,5)000000 K((1213)00)0000000000 |[2G;C
/00000000000000

0000000000000k =00000 A\,;=2+/000000000000000
0 124C00000

124D. 00. 06>000000 Cy>0000 iy >0000000000 pe (0,py)00
HEN

MaXpe BAK (e3,6) | Mui (V) — KinJai(v)| < Cyp (i =1,...,5).
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Doooooo
Api(v) = Api(z(v), .. z(v)).
(12.11)0000 Pz00000000Y =Y,0000000 H,(Y, E,(P(Y,),z(Y,))

) =
DH:HﬂDDDDDKﬁ@:RAHn%(Y»DRDDDD«Q) 0)0O0O0O000
0000000000 (900)0000000000 E=E,(P2)00 (12900000

124E. 00. 0000000 Y =Y, 0000000000040

s I€3

HY) = =3 55+ iRu(Y),

00000000000 R(Y)Ol=10,...,,0002r00000000Y 000000
000000000 HY)DOOOODOO0O000000000000
000000000000000000000000 Pz—Y, 000000000000
0Y=Y,0000200dPAde=Y)dP;Adz;0

> (dA; Adl; + d&; A dn; + dp; + Ndg;).

i=1
00 124E00000H=H(Y)0O N0 0OOODO0OO0OOODOO0O0OO0OOOOO0ODOOOOOO

gbooobog

gooboogo

K3

Ho(A) - — Z . .
i=1 2A12

124F.00. 0000000 Y 0O w,z0002000000000000000OCO0O0O E3
O000000000000000000000 B0f0000000 z,20000 B'NK(es,0)
OooboooooooboodooooooobodoHdHO0R, 000000000000
0000000000000000(9)00)000 (1212)00000000000 B'O
KOOoOoOoOooOooOoooooooooooooo (129000030000000000
O000ED0O0OODOODOODOOOOOOOOOOO

12,5. OJOO0OOOO. ODbooOooOoOoobooOoobooboboboooboooooououuuuooguoogo
gboobogoboogbobodgbbodbboobboobbuoobbuoobbooobo
gbobogdbboggbbogbbuogbbobbuogobuogobuoooboooobuoooon
gobbbuooogbobbooooobboboooan

O0O00000 122A000000000000O

125A.00. BO0000O000OOOO0OOOOOOOOOOOOOOOO BOOO0O0OOn
00 BYO BOO0O0O000OOORO® > BO
a=ai,...,0,0 s0000000v+#£0030000000000VOOO

(12.14) W(a,v)={v e V.]a(v) =a;(i=1,...,s),N(v) =v}
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00000000WOOO000000000000000000000(000000000
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00000000 EO0O0000000000000000000000000000000
2000000000002 000004#0002002000000X000000000
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BO BFOBYBOOOO000000000000

12.5B.00.00006,0600000000 W cBOOOD
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0000000 vO W=W(,y)0OOODODODOOOO
000000000000000 WO KOO0 ((1214)00)0000 BO BOOOOO
0oooooo

W =W(a,v)0 (121 000000000000E* 000600000 400000
002000000000000000000000000000000012400000
00000000000000000000000E,000000000Y,,0000WO
0000000000000000000 124C0125B0000 125A000Y,,y 00 =0
00000000000 x0000WOO00000000000

Yow O p=0000000Y,, 0000000000 [900000000000000

(00012400000 A =2iy/@(i=1,...,s)00000000)00000

12.5C. 00. WOOOODOOOOOOOOD (1214)0000000000000000
00 Yow=A,&p,l,n,q000000000000000000

W = {v|A(v) = const, (§,p,7,9)(v) € Depng}

000 Depe 000 &,p,n,q0 4s000000000000000
00000000000 WOoOOOOO0O0o0O000

12.5D. 00. v000000000000000000000 Cy,cs,42,03,6:000 pO000
00BOOOOO (1214000000 WOOODDOOOOOO0OO ADOO &,p,n,q0 sO
00004s00000000 Dy 000 D, 00000000000000000000
000

2)D,000000000000000A;=06=1,...,s)0000000

p) FOOOOOOOODDOO0OO0OO0OO0000000000000000

F={Y =A&pl,nqReA € Dy,Re€,p,n,q € Depyq, ImY| < C1}.

0000 HOR,(OO124E0 124F0000000000)0000000000O000O00OO
gobooon

9% Hy(A
supyer || HUA < o suby e o lEradR, (V)] < C
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)0 pe(0,u)0000000

{U’)\(U) S DA - 537 (&P:W:Q)(U) S Dép,nq - 53}

0W+6,0000000 A, ¢, p,ln,q=Y,w 000000 Dy—65000 A = Lambdas, . .., A,
0s000000000000000000000 6000000 D,00000000
Depng —0s0000000000

00.B0B°>BO0O00D0O000O0O0O0OWD (1214)000000000 W c BOO
00000000 125BO00 124F000BO000000O00O0ON,>000046>0000
0000 2,¢0000000WOéO000000124CO00000000000 BNK(es,d,)
00000000000 124C000 124F000BO0000 p=000000 0,000
000000000 Y,wDOOO0O pelU,0000WOOO /200000000000
§/20000000Y,:Y —2+000000Y000000000000000000
0000000 wpeU,000WeBOODODOOOOO

00 125C000 124F00000 6, =6,(B)>0000000 D,000 De,y 00000
p=00000000

{vIA(v) € Da, (€§:p,1,0)(v) € Depya}

OW+300000W +25,0000000 A,&p,lnq¢=Yw00000000c¢)0D0
0000000000 124B0 124F000000000000000a) 000 124D0O0
00000000000000000000125D0000000

00 Hy=Hy(A)OODOOO A =06=1,...,s)000000000 (00000000
1.11000)000000000000000000000000000000000000
000 H,000000001000000000000000(1.11000)0000000
000000 124E0125D0124D00000 4400000

12.,5E. 00. BOOOOOOOOO0O0OOO0O00000000 C,Ce,pus000 46,0000
000000000WO (1214)000000000W cBOOOOOOOOx0O (0,u3)0
00000v(),0<t<r0w0000000000000000000000 W +46,00
0D000007>0000000000000000 ¢e€ [0,minfr,7)]0000

|ai(v(t)) = ai(v(0))] < Cop® (i=1,...,s)
0000000000 T=T(C,p)0 (12.3)0(124)000 (1250000000

12.6. OO0 buodbboobbuoobbuoobbuooboboboboobbuoobboon
gbooobog.

126A.00. BOO0ODOODODODOOODODOOO 000 CcsODOO0ODODODOD
O000wp>0000000000(1),0<t<70p00000000000O0O0O0OOO0O
O000 B+4000000007>00cc00000000O00D0ODOOODODODOt
obooobooobobobobobobobo NOOD pOoboobooboobooboobo
gooo

sup |[N(v(t)) — N(v(0))] < c3p.
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00.B0B°>BO00000000000000BOBROIONONONONONONONOON p(dB,B)>
000000000046000 (?)0000000000000000000 »(¢)0000 B
00000
G0 Oo0000000000000000000G;0:0000000000000G =
¢ ,G;000G,000000000000R000000000000(12.7)0000C3>0
0ooooo
12.1 =22
(12.15) max |Go(v)| < "4
00000000000000 Gy0 G,000NDGy=pN=Y5,6,00000000
00000000(1215 00000000
Cs
G-G =22,
max | )l < S u
0000 GOO0000000000000000000000000
W =W(a,v)0 (1214)00000000B000000000,,;000000000 W
0000000

OuWB:{U:’ai(v)_O‘i’ <02:ub(22 17"'78)7’]\[(@)_”‘ <C3:u}:
O000bC,=Cy(B)000 C3=C5(B)000 125E000 126A000000000000

12.6B. 00. BOOOOODOOOOOOOOOD0OOO06>0000000 pg=p4(0)>000
00000 pe(0,u) 000 W CcBOODO OuwpCcW+600000

12.6C. 00 123000. 00000 125E0126A0000 126BO00O0O0O

pOO0OODOODODOODOC,C, 000 C300000 12E000 126A0000000
000000006 =3min[d4,65] 000 po = minfus, na(6)] 0000000 pg, pa(6), 6400
06000 125E0126A000 126BO0O000O0O0O0OO0O0OO0O0OO

00 12300000000000000000000000000 w000 @,z € (0, u)
000000000 »()000000(0) e B00000000000000WD (12.14)0
00000 W =W(a,r) 00000000000 @=a(0)000 7= N@0)0000
0000 7€(0,7T)0000000000¢€[0,7)0000 o(t) € Oy, 00 v(t) € A0,
00000000 00,000 Oup, 00000(12.15)0000000000000000
125E000 126A00000000000 1230000000
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